Have . go at these:
D&gl

Do the hest you can do. | right -
Use .a written method. e N 08022,

678 - 437 = 24|

/ 16 X 5 = 80
What is the total if iyou .add together
462 and 351 = 813

37 X 6 = 222
4769 + 5284 = 10,053

/,‘_;3 What is 487 less than 792 = 305

. 6196 - 2748 = 3L4LS
PA What is the product of 348 and 6 = 2088
54738 + 38492 = 93230

Have a go at these: D 5
Do the hest you can do. ot Ay <
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What is 342 less than 658 = 316
53 X 4 = 2|2
531 + 426 = 957

/‘?S 2539 - 287 = 3252
./ 43 X 6 =258
What is the total of 4781 .and 3468 = 8249

W}La,t»s,ﬂw,d.%ﬂzrmbwvzm 9806
& oand 4324 = 5482
487 X 9 = 4383
4619 + 26 + 346 = 499|




Have a go at these:
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776 - 527 = 249
45 X 3 =135
L63 + 254 = 717

< 4382 - 835 = 3547
/ What is 46 multiplied by 87?7 = 368
5483 + 648 = 613

7241 - 3869 = 3372
Ph. 648 X 7 = 4536
What is the sum of 8795 .and 3846 = 1264

Have . go at these:
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/46 - 325 = 42|
435 X 2 = 870
What is 463 .and 295 altogether? = 758
. What is the difference hetween
/‘,‘5 5783 .and 3859 - 1924
264 X 8 = 2112

5639 + 2584 = 8223

. 7040 - 2416 = 4624
.i What is the product of 752 and 6 - 4692
74 + 2539 + 67 = 2680



Have a go ot these:
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589 - 346 = 243

/ It X 3 = 42

What is the total if yow add
together 634 .and 127 = 76|

< 842 - 367 = 475
// 458 X 6 = 2748
“ What is 19, 246 and 42 altogether 307

8706 - 385 = 832|
498 X 6 = 2988
What is 4762, 32 and 24| altogether - 5035




